# Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register	-27	2 -		Date Regis	- site bill	s	31	7/23
Company Name:	MRPI	LLP		Site:				51H
Name of Contractor		Sarva	n				144	5111
Nature of work	Core			N C(2)	orks.			
Work done	From Dat	te	(	6 7		Date	23	7 23
Sl. Villa/Flat/block no.	Qty.	F	Rate		Units	Amou		Contractors bill no
1. 5"Dia in 9"B	eam -1	6-	375	5/-	Nos	60	00/-	
2. 5" Dia in 6"s	(ab) -5	3-	30	0/-	Nos		900/-	
4" Dia in 94 Be	eam -2	2-	350	0/-	Nos		700/-	
4. 4" Dia in 6"8	lab - a	20-	27	5/-	No's	5,	500/-	
6.								
7.								
8.								
9.								
10.								
11. T	otal:					35,	100/-	
Bill required	□ YES ✓	NO.		GST	bill requi	red		NO.
Measurement & estimate sheet:	Require				urement d		Enclos	
PO/WO no.	□ Not req	uired			ate sheet: O date:		□ Not en	closed
Remarks :								
Approved by Project Mana	ıger	Approved	l by I	Design	Team	Appr	oved by N	M.D.
Date: 31 7/73		Date:				Date	:	
Sign:		Sign:				Sign		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

# Bill for Labour Charges

### Md Sarvar, H.No - 11-1-624/8/7/a, Chilakalguda Hyderabad.

Date: 25.07.2023.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam.

Type of Work:

Core Cutting Work.

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of	
	Block - A - Flat No - A - 801 to 803, 805 to 809 - Core	Rs. 14,040/-
	Cutting Work.	10. 11,010/
	Total Amount = 35,100/-	
	Work done from date 06.07.2023 to 23.07.2023	

Amount in words: Fourteen Thousand and Forty Rupees Only

Sign:		
_		 

## Bill for Equipment Allowance

Md Sarvar, H.No - 11-1-624/8/7/a, Chilakalguda Hyderabad

Date: 25.07.2023.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam.

Type of Work:

Core Cutting Work.

Towards:

Allowance for Equipments

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of	12
	Block - A - Flat No - A - 801 to 803, 805 to 809 - Core	Rs. 14,040/-
	Cutting Work.	110. 11,010
	Total Amount = $35,100$ /-	
	Work done from date 06.07.2023 to 23.07.2023	

Amount in words: Fourteen Thousand and Forty Rupees Only.

#### **Bill for Consumables**

#### Md Sarvar, H.No - 11-1-624/8/7/a, Chilakalguda Hyderabad

Date: 25.07.2023.

In favor of:

MRPLLP.

Project / Site:

Nilgiri Heights.

Location:

Pocharam.

Type of Work:

Core Cutting Work.

Towards:

Allowance for Consumables

S No.	Description	Amount
1.	Brief description of work done: Towards Completion of	
	Block - A - Flat No - A - 801 to 803, 805 to 809 - Core	Rs. 7,020/-
	Cutting Work.	165. 7,020/-
	Total Amount = 35,100/-	
	Work done from date 06.07.2023 to 23.07.2023	

Amount in words: Seven Thousand Four Hundred and Forty Rupees Only.

Sign:
-------

ESTIMATE SHEET						
Company Name:	MRPLLP					
Project:	Niloin Heights	Prepared by:		Vijay Raj		
Work Description:	Block - A - Flot No - A - 601 to 602 505 - 500					
	Diver - A - 1 an 140 - A - 601 to 603, 803 to 809 - Core Cutting Work	ork				
Contractor Name:	Md. Sarvar			+		
Date:	25-07-2023					
S.No. Item Head	Item Description					
Block - A - Flat No - A - 801 to 803, 805 to 809 - Core Cutting Work		Yuanuty	Units	Rate	Amount	Grand Total
_						
1 Core Cutting Work - A - 801	5" Dia in 9" Beam	00.0				
	5" Dia in 6" Slab	7.00	S,ON	375.00	750.00	
	4" Dis in O" Beam	7.00	No's	300.00	2,100.00	
		4.00	No's	350.00	1.400.00	
	4 Dia in o' Siab	2.00	No's	275.00	550.00	
2 Core Cutting Work - A - 802						4800 00
	o Dia in 9" Beam	2.00	No's	375.00	750.00	
	5" Dia in 6" Slab	2 00	Non	200.000	00.007	
	4" Dia in 9" Beam	300	202	300.00	2,100.00	
	4" Dia in 6" Slah	3.00	NO.S	350.00	1,050.00	
		3.00	No's	275.00	825.00	
3 Core Cutting Work - A - 803		•				4725.00
	5" Dia in 9" Beam	2.00	No's	375.00	750.00	00:00
	5" Dia in 6" Slab	7.00	No's	300.00	2,100,00	
	4" Dia in 9" Beam	2.00	No's	350.00	700.00	
	4 Dia in 6 Siab	3.00	No's	275.00	825.00	
4 Core Cutting Work - A - 805						4375.00
COO LU ATON GITTON	5" Dia in 9" Beam	2.00	No's	375.00	750.00	00.0
	5" Dia in 6" Slab	00.9	No's	300 00	1 800 00	
	4" Dia in 9" Beam	3.00	No.	350.00	1,000.00	
	4" Dia in 6" Slab	2 00	S S S S S S S S S S S S S S S S S S S	00.000	1,050.00	
		201	SON	00.672	920.00	
						4150.00



5 A - Morting Work A - 806	5" Dia in 9" Beam	2.00	No's	375.00	750.00	
5 Core cutting work - A - 800	5" Dia in 6" Slab	00.9	No's	300.00	1,800.00	
	4" Dia in 9" Beam	3.00	No's	350.00	1,050.00	
	A" Dia in 6" Slab	2.00	No's	275.00	550.00	
		'				4150.00
V - L-717 0 007	5. Dia in 9. Beam	2.00	No's	375.00	750.00	
6 Core Cutting Work - A - 807	5. Dia in 6. Slab	00.9	No's	300.00	1,800.00	
	4" Dia in 9" Beam	3.00	No's	350.00	1,050.00	
	7 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	2.00	No's	275.00	550.00	
		'				4150.00
	Beam 'O ri ciO 'i'	2.00	No's	375.00	750.00	
7 Core Cutting Work - A - 808	400 a ii ii ii ii ii	7.00	No's	300.00	2,100.00	
	o Dia III o Glab	2.00	No's	350.00	700.00	
	4" Dia in 9 Dealii	3.00	No's	275.00	825.00	
	4" Dia in 6" Siab	-				4375.00
		2.00	No's	375.00	750.00	
8 Core Cutting Work - A - 809	5" Dia in 9" Beam	7.00	No's	300.00	2,100.00	
	5" Dia in 6" Siab	2.00	L	350.00	700.00	
	4" Dia in 9" Beam	3 00	L	275.00	825.00	
	4" Dia in 6" Slab		1			4375.00
				Total Amount	ıt.	35,100.00



Trooper T	MEASUNEMENT SHEET								
Company Name:	Vame	MRPLLP	Prepared by:		Vijay Raj				
Project:		Nilgiri Heights							
Work Description:	notion	Block - A - Flat No - A - 801 to 803, 805 to 809 - Core Cutting Work	Vork						
Contractor Name:	Name:	Md. Sarvar							
Date:		25-07-2023							
			A	В	၁				
S.No		Item Description	Length	Width	Height	No's	Quantity	Units	Total Head
	Block - A - Flat No - A - 801 to	to 803, 805 to 809 - Core Cutting Work							
-	Core Cutting Work - A - 801	Pie in Q. Reem	1.00	1 00	1 00	2 00	2 00	No's	8
4	Colo Culture MOIN- A	1200	100	9		20.1	200	1403	200
		Old In Old	8 8	3 5	8.5	30.7	00.7	Son	807
		TOR III OR III	3.5	3 5		0.4	4.00	SON	4.0
		4- Dia in 6- Siab	1.00	1.00	1.00	2.00	2.00	No's	2.0
C	Core Cutting Work - A - 802	S Dia in 9" Beam	1.00	1.00	1.00	2.00	2.00	No's	200
		S. Dia in 6. Slab	1.00	1.00	1.00	7.00	7.00	No's	2007
		4" Dia in 9" Beam	1.00	1.00	1.00	3.00	3.00	No's	300
		4" Dia in 6" Slab	1.00	1.00	1.00	3.00	3.00	No's	300
m	3 Core Cutting Work - A - 803	5" Dia in 9" Beam	1.00	1.00	1.00	2.00	2.00	No's	2.00
		5" Dia in 6" Slab	1.00	1.00	1.00	7.00	7.00	No's	7.00
		4" Dia in 9" Beam	1.00	1.00		2.00	2.00	No's	2.00
		4" Dia in 6" Slab	1.00	1.00		3.00	3.00	No's	3.00
4	4 Core Cutting Work - A - 805	5" Dia in 9" Beam	1.00	1.00		2.00	2.00	No's	2.00
		5" Dia in 6" Slab	1.00	1.00		7.00	00.9	No's	9:00
		4" Dia in 9" Beam	1.00			4.00	3.00	No's	3.00
		4" Dia in 6" Slab	1.00	1.00	1.00	2.00	2.00	No's	2.00
	- 1								
4)	5 Core Cutting Work - A - 806	5" Dia in 9" Beam	1.00			2.00	2.00	No's	2.00
		5" Dia in 6" Slab	1.00			9.00	00.9	No's	9.00
		4" Dia in 9" Beam	1.00			3.00	3.00	No's	3.00
		4" Dia in 6" Slab	1.00	1.00	1.00	2.00	2.00	No's	2.00
Ŷ	6 Core Cutting Work - A - 807	5" Dia in 9" Beam	1.00			2.00	2.00	No's	2.00
		5" Dia in 6" Slab	1.00			7.00	00.9	No's	9.00
		4" Dia in 9" Beam	1.00	1.00	1.00	4.00	3.00	No's	3.00
		4" Dia in 6" Slab	1.00			2.00	2.00	No's	2.00
							000	1	6
`	7 Core Cutting Work - A - 808	5" Dia in 9" Beam	1.00				2.00	SON	20.7
		5" Dia in 6" Slab	1.00				00.7	SON	3 6
		4" Dia in 9" Beam	1.00			2.00	2.00	Nos	20.2
		4" Dia in 6" Slab	1.00	1.00	1.00	3.00	3.00	No's	3.00
						00.0	2 00	No's	200
∞	Core Cutting Work - A - 809	5" Dia in 9" Beam	1.00		90.		100.0		007
		5" Dia in 6" Slab	1.00			1	00.7	$\perp$	8.0
		4" Dia in 9" Beam	1.00	1.00	1.00	2.00	2:00	S.ON	7.0
						1	000	L	000